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1
g'; o 0.165 %2 X /4 X (1.000 — 0.216 ) /2 .01
5]
ﬁj\
= .02
HEL (#) 1. 000 X 1.000 X0.366 — 0.02 .35’
INFEEA IR 0.216 %2 X /4 X2.142 .08
1
e
7
5]
67\
at .08
HEL &E1) 1. 000 X 1. 000 X 2.142 — 0.08 .06’
bV ﬁjb:l N U — I\ m3
5l TV —T
e t=10cm m’
ik




SN VA e e A

(104) =B Bl

SEHUSHE 1. 000 X 1. 000 AiAEIE = 0. 000
STHUE= 2.508 BAE= 0.492
fiRE = AR E= 3. 000
1.00/0. 250=4%z , 1.00/0. 250=4%%
LSRN H=3. 00m 4 X 4HiI=164& = 16 %
KA [=3.00 m
BUATL 1.00 + 1.00 =] 2.00 m
KA [=3.00 m
HELT 2.00  —0.250 X2 f& =] 1.50 m
KA 1=2.192 m
i 0.250 X2 #& = 0.50 m
LHE 3.00 X 0.0148t/mX 164k =] 0.710 t
1=2. 192m
2 FHERE 2.192 X 0.0148t/mX 24 =] 0.065 t
1.=0. 808m
A T E A 0.808 X 0.0148t/mX 24 =] 0.024 t
2.192 X 0.0148t/mX oM+
A)TFy7 0.265 *X & /4 X0.0592t/m*X 1 T = —68 kg
i T Hixtt LIS CEFE = — m
IR TERERET 2 B 1.000 4+ 1.000 = 2.00 m
TGRS - kT m"
78 TR t
2 LR s T t
AR
+11. 84
2.192 5B
+9.648
SR Y)ER <> 0. 265 Q
0. 808 TS




6% B S AR OO LR

RRE L= 3. 50
(105) EARE  BIEESLHL
SHUSHE 1. 000 X 1. 000 ~ LA — LR R Nt
DRSS 2. 808 —HRIEEIGE = . 000
73 [EERR 0. 000
SYURHEIGE = 2.808 BRAE = . 692
STYU R R 0. 000
AR A R R 0. 000
W R REE= 2. 442 WU R = . 366
— IR
i #5¢ i 00 1
i SLYUIRH
N
ot 1. 000 X 1.000 X 2.808 .81 p?
¥ £ + o # 2.81 —2.35 / 0.9 .20 p?
HORE L+ E ik 2.35 .35 n?
K (N 0.216 %2 X /4 X 0. 366 .01
1
g'; o 0.165 %2 X /4 X (1.000 — 0.216 ) /2 .01
5]
ﬁj\
= .02
HEL (#) 1. 000 X 1.000 X0.366 — 0.02 .35’
INFEEA IR 0.216 %2 X /4 X 2. 442 .09
1
e
7
5]
67\
at .09
HEL &E1) 1. 000 X 1. 000 X 2.442 — 0.09 .35’
bV ﬁjb:l N U — I\ m3
5l TV —T
e t=10cm m’

i




SN VA e e A

(105) Mk ZliESTHT

SEHUSHE 1. 000 X 1. 000 AiAEIE = 0. 000
STHUE= 2. 808 BAE= 0. 692
fiRE = AR E= 3. 500
1.00/0. 250=4%z , 1.00/0. 250=4%%
LSRN H=3. 50m 4 X 4HiI=164& = 16 %
KA [=3.50 m
BUATL 1.00 + 1.00 =] 2.00 m
KA [=3.50 m
HELT 2.00  —0.250 X2 f& =] 1.50 m
KA 1=2.492 m
i 0.250 X2 #& = 0.50 m
LHE 3.50 X 0.0148t/mX 164k =] 0.829 t
1=2. 492m
2 FHERE 2.492 X 0.0148t/mX 24 =] 0.074 t
L=1. 008m
A T E A 1.008 X 0.0148t/mX 24 =] 0.030 t
2.492 X 0.0148t/mX 28+
A)TFy7 0.265 *X & /4 X0.0592t/m*X 1 T = 77 kg
i T Hixtt LIS CEFE = — m
IR TERERET 2 B 1.000 4+ 1.000 = 2.00 m
TGRS - kT m"
78 TR t
2 LR s T t
AR
+12. 07
2. 492 5B
+9.578
SR Y)ER <> 0. 265 Q
1. 008 TS




7. BEHFHRRIIHLL

(J2000 X 2000)



g B ARSI+ T EGH R E

FIE L= 3. 50 m
(103) EMRE  FEHESTHL
SYLTE 2.000 X 2.000 < AR —LFRR N
STHTIE = 2.875 — R = 0. 000
FEEVERR 0. 000
SYUIRAITE = 2.875 BARE = 0.625
NEYTHLREZER R 0. 000
AL AR ERR 0. 000
B EE= 2.142 WO REYE = 0.733
— AR H
i * 0. 00 p*
i SEYUIRH
N
ot 2. 000 X 2.000 X 2.875 11.50 p*
A s Y (LU 11.50 —8.49 / 0.9 2.07 m°
HORE + E 8. 49 8.49 p’
5K ® 0.216 2 X /4 X 0. 733 0.03
L
g moH E 0.165 2 X /4 X (2.000 — 0.216 ) /2 0.02
51
ﬁj\
it 0.05
WEL (") 2.000 X 2.000 X0.733 — 0.05 2.88 n’
INFEREA A 0.216 2 X /4 X 2. 142 0.08
L
)
7=
51
ﬁj\
it 0.08
HEREL (kE) 2. 000 X 2,000 X 2.142 — 0.08 8.49 p®
S N — 3
A BWLayzy ~ m
BT TT v —T
e t=10cm m2
fitk




3 N TR e ot g

(103) EhRE  FiESLHL

SEHUTE 2. 000 X 2. 000 AiAEE = 0. 000
SEHLE= 2. 875 BAE= 0. 625
fidgE = T E = 3. 500
2.00/0. 250=8%z , 2.00/0. 250=8%%
(SR N H=3. 50m 8 X 4T =32f% = 32 &
PN T8 [=3.50 m
HAT 2.00 + 2.00 =| 4.00 m
PN B [=3.50 m
kT 4.00 —0.250 X2 K =| 3.50 m
PN T8 [=2.142 m
" 0.250 X2 ¥ = 0.50 m
AEE 3.50 X 0.0148t/mX 324% = 1.658 t
L=2. 142m
2 EiE 2.142 X 0.0148t/mX 28 =] 0.063 t
L=1. 358m
S T E 1.358 X 0.0148t/mX 28z = 0.040 t
2.142 X 0.0148t/mX 2+
2597 0.367 X /4  X0.0592t/m" X 1 PT = -70 kg
YT HtE TICCEF E = — m
PR TERIERE T 2 B 2.000 + 2.000 = 4.00 m
BIHGRIE - fET m
BT E & t
B TMIER SRR T t
AT
+11.78
2.142 e
+9.638
o o 367 (::)

1. 358 TR




8. AN~V HR—/LHREL



1 RN~ o R — Vs T AR R R
vl B~k | 55352 AL HrE
RETSE
~ AR —IVIR 2.271 m 2.271
(T ey %)
< — | $600 T-25 il
$ 600 T-14 1 il 1
MESE H=25 1 1 1
H=145 1
VT =50 1 1 1
H=100 1
H=150 1
REET H=300 i
H=450 1 18 1
H=600 1
EEET oy $ 900X 300 ]
¢ 900X 600 1
¢ 900X 900 1
¢ 900 X 1200 1
¢ 900 X 1500 1
¢ 900 X 1800 1
BEVGIERE | $ 900X 600 1A
A= ¢ 900X 900 @
¢ 900 X 1200 1
¢ 900 X 1500 1
¢ 900 X 1800 1 18 1
¢ 900X 2100 1
il
LN = ¢ 900 X 900 1
KT ey ¢ 900X 130 1 18 1
AIEOMEF  |[VP ¢ 150 1
VP ¢ 200 1 18 1
(8 1)
AvnN'=pavy)—b |18-8-40 0.16 m3 0.16
VIV BT |1:2 t=2cm 0.74 m2 0.74
(HI4LT) HEH ¢ 100 i
HE ¢ 150 1 B 1
HEH ¢ 200 T
(FAFE2 7Y —1) 0.14 m3 0.14
(|6 _FAPE) 0.52 m2 0.52




_L&
S
Iy

NO. 5535-2 1 =Zf S ~oh—L8aE T3

F& 3] Bk -~k iR S Hfr| BE
~ = ILER m 2.271
(Tvy73)
v R—VE ¢ 600 T-25 SepEdg HH
¢ 600 T-14 P HH 1
A B H=25 1
H=45
YT H=50 1
H=100
H=150
FHEET vy H=300
H=450 1
H=600
[ER A= ¢ 900 X 300
¢ 900 X 600
¢ 900X 900
¢ 900X 1200
¢ 900 X 1500
¢ 900 X 1800
BEVYERE $ 900X 600
WAET a7 ¢ 900X 900
¢ 900X 1200
¢ 900 X 1500
¢ 900 X 1800 1
¢ 900X 2100
BT vy ¢ 900X 130 1
AIEOME F VP150 4 HETE
VP200 et 1
(EHT)
AvnN=bavy)—k 118-8-40 V= n/4X 09072 X (  0.17 + 0.20 /2)
-m/4%X 02072 X 1/2 X 0.90 m3 0.16
EVAVEBT [1:2 t=2cm A= m/4X 090" 2 - 0.20 X 0.90
+7 X 0.20 X 1/2 X 0.90 m2 0.74
(GUEIW) HT\EE ¢ 100 &P
B\ ¢ 150 & AT 1
B\EE ¢ 200 & AT
(FREE2))-1) V= z/4X 1102 X 0.150 m3 0.14
(7] 2 H%) A= X 110 X 0.150 m2 0.52




s



25 3LV R—)LAE]

== =1L

ELETHESR

B 68X
No.504~1 [R%E ¢200] (85) L+
T 1 E2V HANZ B &

1EEAT4Y
TL— U NEE ¢ 100 ( 2190 - 0.20 X 1/2 - 0.128 - 0.178 ) = 4.0 m/&K EN 0.45
Kihy & ¢ 100X 100 1 ] 1
IS 907 i ¢ 100 1 & 1
PN RIS SR A ¢ 100/ 2 & 2
Bl RE T H=2.0m~2.5mAif§ & AT 1




2EHMN T UR—ILNEIEREISER

No.504-1 [A%E ¢ 200]

T & & =\ HAL u &
1EEAT4Y

TL— U NEE ¢ 100 ( 2645 - 0.20 X 1/2 - 0.108 - 0.178 ) = 4.0 m/&K EN 0.57
HEATRY PR 1A T ¢ 150 X100 1 ] 1
Rl H90° hiE ¢ 100 1 1] 1
NEIE SR R ¢ 100 2 1] 2
Bl RE T H=2.5m~3.0mAifi & AT 1




2EHMN T UR—ILNEIEREISER

No.505-1 [A%E ¢ 200]

T & & =\ HAL H &
1EEAT4Y

TL— U NEE ¢ 100 ( 1.707 - 0.20 X 1/2 - 0.108 - 0.178 ) = 4.0 m/& EN 0.33
HEATRY PR 1A T ¢ 150 X100 1 ] 1
Rl H90° hiE ¢ 100 1 1] 1
NEIE SR R ¢ 100 1 1] 1
B #%E T H=1.5m~2.0mAif§ & AT 1




2EHMN T UR—ILNEIEREISER

No.506-2 [XE ¢ 200] (104) U7
T Ff B =\ HAL H &

L&A 49
T—r U NEE ¢ 100 ( 1743 - 020 x 1/2 - 0.108 - 0.178 ) =+ 4.0 m/A EN 0.34
HEATRY PR 1A T ¢ 150100 1 ] 1
R H90° fhAE ¢ 100 1 ] 1
PRI Sk ¢ 100 1 ] 1

H=1.5m~2.0mAi & AT 1

=
i
He
o
H




25T UR—ILNEIERETHER

No.506-2 [XE ¢ 200] (105)Uff &
T Ff B =\ HAL H &

L&A 49
T—r U NEE ¢ 100 ( 1.675 - 020 x 1/2 - 0.108 - 0.178 ) =+ 4.0 m/A& EN 0.32
HEATRY PR 1A T ¢ 150100 1 ] 1
R H90° fhAE ¢ 100 1 ] 1
PRI Sk ¢ 100 1 ] 1
Bl RE T H=1.5m~2.0mAif§ fii T 1




2EHMN T UR—ILNEIEREISER

No.506-1 [XE ¢ 200]
T fh 1 b2y HAL £y
L&A 49
T—r U NEE ¢ 150 ( 1179 - 020 x 1/2 - 0.152 - 0.245 ) =+ 4.0 m/AK N
AL RPN R kT ¢ 200X 150 1 1
R HI90° hAg ¢ 150 1 1"
PRI Sk ¢ 150 1 ]

H=1.0m~1.5mAi & AT

=
i
He
i
H




10. f+



il kgt | 093972 wpr| oA ak B =
FE itk
EERVEEL T
A5
EREE U0 T As 20cmPA T 7.29 m 7.29 11.93
A5
SRR EEEL T |As 15emBA T 3.14 m2 3.14 8.36
A5
AsHIS T 0.16 m3 0.16 0.36
A8 1A T (FE)
t=3cm
BT AR As m2
t=22cm
EgET bV L ) m2
t=15cm
TREBET BHAEITyVXTY m2
A8 1A T (FHiE)
t=3cm
FE L AR As 3.14 m2 3.14
t=12cm
FEBET bV L ) 3.14 m2 3.14
t=15cm
TEKRET FAEIT AT 3.14 m2 3.14
PLE
SEYL TR LY
TSR EEL T
AT U T As 20cmPA T 4.64 m 4.64 | Liticate
SREERCEDEEL T [As 15ecmBA T 5.22 m2 5.22 I
AsHZHS5 T 0.20 m3 0.20 n
AMEIAT (FE)
t=bcm
#£ B T TR As m2
t=bcm
B T FACHRLE As m2
A B 1) T t=Tcm m3
AME AT (i)
t=bcm
* B T BRI As 5.22 m2 5.22
A B 1) T t=2cm m3
XX B L
SMAlKR
EREResss W=15¢cm m
R
AR W=30cm m




THE
fHir T (ARMEIHT)

No. 5535-2 &7 HT

HeT =2
{TJ‘WID+%%_
FE B it 1 = HALl % &
SE BT T 2.32 X 2 m 4.64
(As20cmbPL T) AR B (BRI & 0)
ETERRY BE L T 2.32 X 2.25 m? 5. 22
(As1bemPA ) ¥2. 0m (SLHTAR) +0. 25m (FL28E)
AsH 7 555 T 2.00 2 x /4 X 0.03 + (5.22 — m’ 0.20
2.00 2 x w/4) X 0.05

B T 2.32 X 2.25 m? 5.22
(BERIPEAs, t=5cm)
A T m? —
Chizlfa . t=10cm)
A T m? —

(4779 %=77, t=15cm)




